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N.B. :— (i) Solve Q. No. 1111 on OMR sheet during the first half an hour.

(ii) Question No. 1111 is compulsory.

(iii) All questions carry equal marks.

(iv) Simple calculator is allowed.

(i) 1 1 1 1 OMR sheet

(ii) 1111

(iii)

(iv)

MCQMCQMCQMCQ

1. Multiple Choice Questions : 10

(i) Process costing is used in :

(a) Biscuits Industry (b) Oil Industry

(c) Chemical Industry (d) All of these

(a) (b)

(c) (d)
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(ii) In cement industry ................................ method of costing is used.

(a) Unit costing (b) Process costing

(c) Contract costing (d) Operating costing

(a) (b)

(c) (d)

(iii) Contract costing is applicable in :

(a) Building Construction (b) Road Construction

(c) Bridge Construction (d) All of these

(a) (b)

(c) (d)

(iv) Contract price is ` 4,50,000, cash received ` 3,00,000, being 80% of the

work certified, work certified is ` ................................ .

(a) 3,20,000 (b) 3,00,000

(c) 3,75,000 (d) 3,50,000

` 4,50,000, ` 3,00,000,  80% 

` ................................ 

(a) 3,20,000 (b) 3,00,000

(c) 3,75,000 (d) 3,50,000

(v) Method of costing used in undertaking like electricity, gas supply, cinema

house are known as :

(a) Contract costing (b) Standard costing

(c) Operating costing (d) Process costing

(a) (b)

(c) (d)



WT (    3    ) CV—223—2018

P.T.O.

(vi) ................................. is not included in standing charges.

(a) Salary of Manager (b) Insurance of Motor

(c) Tyres and Tubes (d) Road Licences

(a) (b)

(c) (d)

(vii) Statement prepared for showing the causes of the difference in cost

profit and financial profit :

(a) Balance Sheet (b) Reconciliation Statement

(c) Cost Sheet (d) None of these

(a) (b)

(c) (d)

(viii) If profit as per costing books ` 15,000, Over-absorption of administrative

overheads in costing books is ` 80,000 and under-absorption of

factory overheads is ` 40,000, then profit as per financial books

is ` ................................. .

(a) 50,000 (b) 60,000

(c) 55,000 (d) 65,000

` 15,000 

` 80,000 ` 40,000 

` ................................. .

(a) 50,000 (b) 60,000

(c) 55,000 (d) 65,000
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(ix) ..................................... is the verification of correctness of Cost Accounts.

(a) Cost Audit (b) Management Audit

(c) Financial Audit (d) All of these

(a) (b)

(c) (d)

(x) After end of company financial year Cost Auditor submit their report

within ...................................... is compulsory.

(a) 90 days (b) 120 days

(c) 100 days (d) 30 days

(a) 90 (b) 120 

(c) 100 (d) 30 

TheoryTheoryTheoryTheory

2. The Nath Contractors Ltd. commenced operations on 1st Jan., 2017 and

during the year were engaged on one contract of which the contract price

was ` 5,00,000. The Trial Balance extracted from their books on 31-12-2017

stood as below : 10

Trial BalanceTrial BalanceTrial BalanceTrial Balance

Particulars Dr.Particulars Dr.Particulars Dr.Particulars Dr. (`) Cr.Cr.Cr.Cr. (`)

Share Capital — 75,000

Sundry Creditors — 15,000

Land & Building 40,000 —

Cash at Bank 10,000 —

Contract Account :

Materials 65,000 —

Wages 1,25,000 —

Plants 40,000 —

Overheads 35,000 —

Cash received (being 75% of work certified) — 2,25,000

3,15,000 3,15,000
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Of the plant and materials charged to contract plant costing ` 6,000 and

material costing ` 1,500 were destroyed by an accident.

On 31st December, 2017 plant which cost ` 14,000 was returned to store. The

value of materials on site was ` 5,000 and cost of work done but not certified

was ` 11,900.

Charge 10% depreciation on plant and prepare Contract Account for the year

ended 2017 and Balance Sheet as on 31st December, 2017.

1 , 2017 ` 5,00,000

31-12-2017 

 (`)  (`)

— 75,000

— 15,000

40,000 —

10,000 —

65,000 —

1,25,000 —

40,000 —

35,000 —

 75% — 2,25,000

3,15,000 3,15,000

` 6,000 ` 1,500 

31-12-2017 ` 14,000 

` 5,000 ` 11,900

 10% 2017 31-12-2017 



WT (    6    ) CV—223—2018

Or

The following is the summary from the records of a Building Contractor, relating

to Contract No. 15 as on 31st March, 2016 :

`̀̀̀

Material bought directly 70,000

Material issued from stores 1,00,000

Material transferred from other contract (to this) 40,000

Wages 36,000

Direct expenses 14,000

Management charges 12,000

Miscellaneous expenses 4,000

Plant at cost 68,400

Scrap sold 3,640

The further information is as follow :

(i) Outstanding on 31st March, 2016 were — Wages ` 1,800 and direct

expenses ` 2,400.

(ii) The cost of work uncertified ` 8,400.

(iii) Plant worth ` 8,000 was sold for ` 6,000 and material costing ` 10,000

were sold for ` 12,000.

(iv) Plant worth ` 4,000 and material worth ` 6,000 were destroyed by fire.

(v) Depreciation upto 31st March, 2016 on plant was ` 20,000.

(vi) Materials at site were worth ` 10,000.

(vii) Cash received from contractee ` 1,20,000 being 80% of the work

certified.

(viii) Contract price is ` 2,00,000.

Prepare Contract Account.
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15 31 , 2016

`̀̀̀

70,000

1,00,000

40,000

36,000

14,000

12,000

4,000

68,400

3,640

(i) 31 , 2016 ` 1,800 ` 2,400 

(ii) ` 8,400.

(iii) ` 8,000 ` 6,000 ` 10,000 ` 12,000

(iv) ` 4,000 ` 6,000 

(v) 31 , 2016 ` 20,000 

(vi) ` 10,000 

(vii) ` 1,20,000 80%

(viii) ` 2,00,000 
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3. From the following information prepare a statement of reconciliation : 10

Particulars Cost A/c Financial A/cParticulars Cost A/c Financial A/cParticulars Cost A/c Financial A/cParticulars Cost A/c Financial A/c

(`) (`)

Net Profit 85,600 82,050

Opening Stock 18,300 20,500

Closing Stock 27,400 25,800

Overheads 37,500 36,250

Depreciation  5,600  6,000

Loss on Sale of Investment —  1,000

Dividend received —  4,200

Goodwill written off —  3,000

Transfer fees received —  1,200

Preliminary exp. written off —  2,000

(`) (`)

85,600 82,050

18,300 20,500

27,400 25,800

37,500 36,250

 5,600  6,000

—  1,000

—  4,200

—  3,000

—  1,200

—  2,000
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Or

From the following data you are required to ascertain the cost of running

the Motor Lorry per ton mile :

Total tonnage carried in a week : 30

Total mileage carried in a week 600 miles

Details of the above are as follows :

Miles TonsMiles TonsMiles TonsMiles Tons

Monday 120 6

Tuesday 125 5

Wednesday 110 4

Thursday 100 5.5

Friday 80 4.5

Saturday 65 5

600 30

Expenses for the week are as follows :

Driver’s Salary ` 200 per month

Cleaner’s Salary ` 100 per month

Petrol, Oil, etc. 30 paisa per mile

Repairs & Maintenance ` 300 per month

Depreciation ` 4,800 per annum

Other Expenses ` 200 per month

You may assume 4 weeks in a month.
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 : 30 

 600 

120 6

125 5

110 4

100 5.5

80 4.5

65 5

600 30

` 200 

` 100 

30 

` 300 

` 4,800 

` 200 

4 

4. A product passes through three processes known as ‘X’, ‘Y’ and ‘Z’. From the

following information, prepare Process Accounts : 10

Particulars ProcessParticulars ProcessParticulars ProcessParticulars Process

X Y ZX Y ZX Y ZX Y Z

(`) (`) (`)

Materials 20,000 30,000 20,000

Labour 10,200 42,800 16,600

Overheads 17,000 40,000 25,000
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10,000 units @ ` 2 per unit were issued to Process ‘X’ :

Particulars ProcessParticulars ProcessParticulars ProcessParticulars Process

X Y ZX Y ZX Y ZX Y Z

Output (units) 9,400 8,800 7,700

Normal Wastage 4% 5% 10%

‘X’, ‘Y’  ‘Z’ 

X Y ZX Y ZX Y ZX Y Z

(`) (`) (`)

20,000 30,000 20,000

10,200 42,800 16,600

17,000 40,000 25,000

 ‘X’ ` 2 10,000 

X Y ZX Y ZX Y ZX Y Z

9,400 8,800 7,700

4% 5% 10%

Or

Explain the rights and responsibilities of a Cost Auditor.


